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ÜÈÛ½ÛÛ•Û – I / Section – I 

 M.C.Q.   20 

 (1) •Ûé¶Ûé¶Ûà …µýÛýÛ¶Û ËÛé̈ Ûà¾ÛÛ× ¸ÛÛ×̃ Û¾Ûà ïõ“ÛÛ ________ ™öé.  

  (a) Š°ùà¸Ûïõ ¸ÛóÜ©Û˜ÛÛÁõ …µýÛýÛ¶Û (b) ÉÛè×”ÛÅÛÛ …µýÛýÛ¶Û 

  (c) ¼ÛÐäüÜÈÛµÛ ÜÈÛ½ÛéþùàïõÁõ¨Û …µýÛýÛ¶Ûõ  (d) ÍÛ×ïõÅ¸Û¶ÛÛ …µýÛýÛ¶Û 

  The fifth level of Gagne’s hierarchy of learning is ______. 

  (a) S-R learning  

  (b) Chain learning 

  (c) Multiple discrimination learning  

  (d) Concept learning 

 (2) Š°ùà¸Û¶ÛÛé¶ÛÛ ÍÛ¾ÛæÐü ¾ÛÛ¤éø …½ýÛÛÍÛïõ ÍÛÛ¾ÛÛ¶ýÛ ¸ÛóÜ©Û˜ÛÛÁõÛé¶Ûà “Û¾Û©ÛÛ ¸ÛóÛ¸©Û ïõÁéõ ©Ûé ________ ™öé.  

  (a) Š°ùà¸Ûïõ ¸ÛóÜ©Û˜ÛÛÁõ …µýÛýÛ¶Û (b) ÜÍÛ±ùÛ×©Û …µýÛýÛ¶Û 

  (c) …¬ÛÙ̧ Ûæ̈ ÛÙ …µýÛýÛ¶Ûõ  (d) ÍÛ×ïõÅ¸Û¶ÛÛ …µýÛýÛ¶Û 

  The learner acquires a capability of making a common response to a class of 

stimuli this is called _____ 

  (a) S-R learning (b) Rule learning 

  (c) Meaningful learning (d) Concept learning 

 (3) …µýÛýÛ¶Û …é¤øÅÛé ÉÛä× ? 

  (a) Š˜˜Û ¸ÛóÛ¸©ÛÛ×ïõÛé ¾ÛéÇÈÛÈÛÛ  (b) Š˜˜Û ¼ÛäÜ±ù ¸ÛóÛ¸©Û ïõÁõÈÛà 

  (c) ¸ÛýÛÛÙ̧ ©Û ßÛÛ¶Û ÐüÛ×ÍÛÅÛ ïõÁõÈÛä× õ  (d) ÈÛ©ÛÙ¶Û¾ÛÛ× ¸ÛÜÁõÈÛ©ÛÙ¶Û µÛÛÁõ¨Û ïõÁõÈÛä× 

  What is learning ? 

  (a) Achieve high scores (b) Possess high intelligence 

  (c) Acquire adequate knowledge (d) Attain behavioural change 
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 (4) Ü¸ÛýÛÛ›÷é¶ÛÛ ¾Û©Ûé ¾ÛÛ¶ÛÈÛ ÜÈÛïõÛÍÛ¶ÛÛ ©Û¼Û‘õÛ…Ûé¶Ûà ËÛé̈ Ûà¶Ûé ’õ¾Û¾ÛÛ× •ÛÛé¥øÈÛÛé.  

  (A) ¾Ûæ©ÛÙ ¾ÛÛ¶ÛÜÍÛïõ Ü’õýÛÛ©¾Ûïõ  (B) ¸ÛæÈÛÙ Ü’õýÛÛ©¾Ûïõ  

  (C) …¾Ûæ©ÛÙ Ü’õýÛÛ©¾Ûïõ  õ  (D) ÍÛ×ÈÛéþù¶Û Í¶ÛÛýÛäÅÛ“Ûà …ÈÛÍ¬ÛÛ 

  (a) D, B, C, A (b) D, B, A, C 

  (c) D, A, B, C  (d) B, A, C, D 

  Which of the following indicates the correct sequence of stages of human 

development according to piaget ? 

  (A) Concrete mental operation (B) Pre-operation 

  (C) Formal operation (D) Sensory motor stage 

  (a) D, B, C, A (b) D, B, A, C 

  (c) D, A, B, C  (d) B, A, C, D 

 (5) “ÍÛä́ ù§øïõ …éÈÛÛé Š°ùà¸Ûïõ ™öé ïéõ ›÷é¶Ûà Áõ›æ÷…Û©Û ïéõ ¶ÛÛ¼Ûæþùà ¸ÛóÜ©Û˜ÛÛÁõ ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ 

ÈÛµÛÛÁõà …Û¸Ûé ™öé.” …Û ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛÛ˜Ûä× ™öé ? 

  (a) ÉÛÛÍªÛàýÛ …Ü½ÛÍÛ×µÛÛ¶Û (b) ¸ÛóýÛ©¶Û …¶Ûé ½ÛæÅÛ ³ùÛÁõÛ …µýÛýÛ¶Û 

  (c) ïõÛÁõïõ …Ü½ÛÍÛ×µÛÛ¶Ûõ  (d) …Û×©ÛÁõÍÛæ¡ö …µýÛýÛ¶Û 

  “A reinforcer is the stimulus the presentation or removal of which increases the 

probability of a response being repeated. “This is true in case of 

  (a) Classical conditioning (b) Trial and error learning 

  (c) Operant conditioning (d) Insightful learning 

 (6) …µýÛé©ÛÛ ¾ÛÛé¦éøÅÛ¶ÛÛ …ÈÛÅÛÛéïõ¶Û ³ùÛÁõÛ ÈÛ©ÛÙ¶ÛÛé ÉÛà”Ûé, ÜþùÉÛÛ ¼ÛþùÅÛé ïéõ ¼Û×µÛ ïõÁéõ ©Ûé¶Ûé ________ ïõÐéü 

™öé.  

  (a) ¸ÛóÜ©Û¾ÛÛ¶Û (b) …ÈÛÅÛÛéïõ¶Û 

  (c) …¶ÛäïõÁõ¨Ûõ  (d) ÍÛ×ïéõ©ÛàïõÁõ¨Û 

  Student learn new behaviour, change the direction or stop behaviour with 

observation of model is 

  (a) model (b) observation 

  (c) imitation (d) encoding 
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 (7) ›÷é ¾ÛÛÜÐü©Ûà¶Ûé ©Û¾Ûé ÅÛ–Ûä …ÈÛÜµÛ Í¾ÛèÜ©Û¾ÛÛ× ›ÛÇÈÛà ÁõÛ”ÛÈÛÛ ¾ÛÛ×•Û©ÛÛ ÐüÛé, ©ÛÛé ©Ûé¶Ûä× ÉÛä× ïõÁõÈÛä× ›Ûéˆ…é ? 

  (a) ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û (b) ¾ÛæÅýÛÛ×ïõ¶Û 

  (c) µÛÛÁõ¨Ûõ  (d) Äõ¸ÛÛ×©ÛÁõ  

  What will you do with information which you want to maintain in S.T.M. ? 

  (a) Rehearsal (b) Evaluation 

  (c) Retention (d) Transformation 

 (8) Ü¸ÛýÛÛ›÷é ïéõÈÛä× ´ùÜÌ¤øÝ¼Ûþäù µÛÁõÛÈÛ©ÛÛ ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ Ðü©ÛÛ ? 

  (a) ßÛÛ¶ÛÛ©¾ÛÈÛÛþùà (b) ÈÛ©ÛÙ¶ÛÈÛÛþùà 

  (c) ¸ÛÁ×õ¸ÛÁõÛÈÛÛþùàõ  (d) ÍÛ×Áõ˜Û¶ÛÛÈÛÛþùà 

  Which type of view point keep Piaget ? 

  (a) Cognitivist (b) Behaviourist 

  (c) Traditionalist (d) Constructivist 

 (9) –Û¦ø©ÛÁõ¶ÛÛé ÜÍÛ±ùÛ×©Û ïõÛé̈ Ûé …Û¸ýÛÛé ™öé ? 

  (a) ¼ÛÛ¶þäùÁõÛ (b) …ÛÍÛä¼ÛéÅÛ  

  (c) ÜÍïõ¶ÛÁõ õ  (d) •Ûé¶Ûé 

  Who give the shaping theory ? 

  (a) Bandura (b) Ausubel 

  (c) Skinner (d) Gagne 

 (10) šýÛÛÁéõ …µýÛé©ÛÛ ¶ÛÈÛà …µýÛýÛ¶Û ÈÛÍ©Ûä¶Ûé ¸ÛÛé©ÛÛ¶Ûà ßÛÛ¶ÛÛ©¾Ûïõ ÍÛ×Áõ˜Û¶ÛÛ¾ÛÛ× ÁõÐéüÅÛ ¾ÛÛÜÐü©Ûà ÍÛÛ¬Ûé ›Ûé¦øà 

ÉÛïéõ ©ýÛÛÁéõ ïõýÛÛ ¸ÛóïõÛÁõ¶Ûä× …µýÛýÛ¶Û ¬ÛÛýÛ ™öé ? 

  (a) ÉÛÛéµÛ …µýÛýÛ¶Û (b) …¬ÛÙ̧ Ûæ̈ ÛÙ …µýÛýÛ¶Û 

  (c) •ÛÛé”ÛÜ¨ÛýÛä× …µýÛýÛ¶Ûõ  (d) •ÛóÐü¨ÛÉÛàÅÛ …µýÛýÛ¶Û 

  Learning matter with pre-information line in Cognitive structure is 

  (a) Discovery learning (b) Meaningful learning 

  (c) Rote learning (d) Receptive learning 
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 (11) …ÛÍÛä¼ÛéÅÛé …é¦øÈÛÛ¶ÍÛ …Ûé•Ûë¶ÛÛˆ¡öÁõ¶ÛÛ ïéõ¤øÅÛÛ ¸ÛóïõÛÁõÛé ¸ÛÛ¦øÀÛ ™öé ? 

  (a) ªÛ¨Û (b) ¼Ûé 

  (c) ˜ÛÛÁõ õ  (d) ¸ÛÛ×̃ Û  

  How many divisions have made by Ausubel of advanced organizer ? 

  (a) Three (b) Two 

  (c) Four (d) Five 

 (12) þùà–ÛÙ …ÈÛÜµÛ Í¾ÛèÜ©Û¾ÛÛ× ¾ÛÛÜÐü©Ûà¶Ûä× µÛÛÁõ¨Û ïõˆ Áõà©Ûé ÈÛµÛé ™öé ? 

  (a) ÍÛ×ÈÛéþù¶Û©Û×ªÛ ÍÛ©Ûé›÷ ÐüÛéýÛ ©ÛÛé (b) ¸Ûó©ýÛ“ÛàïõÁõ¨Û ÍÛÛÄ×õ ¬ÛýÛä× ÐüÛéýÛ ©ÛÛé  

  (c) ÍÛ×ïéõ©ÛàïõÁõ¨Û ¬ÛýÛä× ÐüÛéýÛ ©ÛÛé õ  (d) ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û ¬ÛýÛä× ÐüÛéýÛ ©ÛÛé 

  How does long term memory increase into information acception ? 

  (a) when sensitive system is active  

  (b) when perception is done well 

  (c) when symbolism may be done 

  (d) when revision had been done 

 (13) ¾ÛÛÜÐü©Ûà¶ÛÛ ¸ÛóÈÛÛÐü¶Ûé Ü¶ÛýÛ×ÜªÛ©Û ïõÁõÈÛÛ¾ÛÛ× ¾Ûä”ýÛ ïéõ¤øÅÛà ¸ÛóÜ’õýÛÛ…Ûé ÐüÛéýÛ ™öé ? 

  (a) ˜ÛÛÁõ  (b) ªÛ¨Û 

  (c) ¸ÛÛ×̃ Ûõ  (d) ¼Ûé 

  How many process to control for stream ? 

  (a) Four (b) Three 

  (c) Five (d) Two 

 (14) ïõÛÁõïõ …Ü½ÛÍÛ×µÛÛ¶Û : ÜÍïõ¶ÛÁõ : : …¬ÛÙ̧ Ûæ¨ÛÙ …µýÛýÛ¶Û : _________ ? 

  (a) ¼ÛÛ¶þäùÁõÛ (b) •Ûé¶Ûé 

  (c) …ÛÍÛä¼ÛéÅÛ õ  (d) Ü¸ÛýÛÛ›÷é 

  Operant conditioning : Skinner : : Meaningful learning : ______ ? 

  (a) Bandura (b) Gagne 

  (c) Aasubel (d) Piaget 
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 (15) “…¶Ûä½ÛÈÛ ³ùÛÁõÛ ßÛÛ¶Û ïéõ ÈÛ©ÛÙ¶Û¾ÛÛ× ÍÛÛ¸Ûé“Û Áõà©Ûé ïõÛýÛ¾Ûà ¸ÛÜÁõÈÛ©ÛÙ¶Û” …é ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ 

¼ÛÛ¼Û©Û¶Ûà ËÛéÌ¥ø ÈýÛÛ”ýÛÛ ™öé ? 

  (a) …µýÛýÛ¶Û (b) ¸ÛÜÁõ¸ÛïõÈÛ¶Û 

  (c) …Ü½ÛÍÛ×µÛÛ¶Ûõ  (d) ÍÛä́ ù§øàïõÁõ¨Û 

  “A relatively permanent change in knowledge or behaviour through experience” 

best defines ______. 

  (a) learning (b) maturation 

  (c) conditioning (d) reinforcement 

 (16) •Ûé¶Ûé¶Ûà ËÛé̈ Ûà¾ÛÛ× ‘ÍÛ×ïõÅ¸Û¶ÛÛ¶Ûä× …µýÛýÛ¶Û’ ¾ÛÛ× ________ ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÉÛé ¶ÛÐüá. 

  (a) ÍÛ×ïéõ©Û …µýÛýÛ¶Û (b) Š°ùà¸Ûïõ-¸ÛóÜ©Û˜ÛÛÁõ …µýÛýÛ¶Û 

  (c) Ü¶ÛýÛ¾Û …µýÛýÛ¶Ûõ  (d) ÜÈÛ½ÛéþùàïõÁõ¨Û …µýÛýÛ¶Û 

  In Gagne’s hierarchy “Concept learning” will not include : 

  (a) Sign learning  (b) S-R learning 

  (c) Rule learning (d) Discrimination learning 

 (17) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà Í¾ÛèÜ©Û¶ÛÛé ÍÛÛíé¬Ûà ¤æ×øïõÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ïõÛé¶ÛÛé ÐüÛéýÛ ™öé ? 

  (a) Ü’õýÛÛÉÛàÅÛ Í¾ÛèÜ©Û (b) ÍÛÛ×ÈÛéþùÜ¶Ûïõ Í¾ÛèÜ©Û 

  (c) ÅÛ–Ûä …ÈÛÜµÛ Í¾ÛèÜ©Ûõ  (d) þùà–ÛÙ …ÈÛÜµÛ Í¾ÛèÜ©Û 

  Which of the following has the shortest memory span ? 

  (a) Working memory (b) Sensory memory 

  (c) S.T.M. (d) L.T.M. 

 (18) ÜÈÛÍ¾ÛÁõ¨Û¶Ûä× …•Û©ýÛ¶Ûä× ÅÛ“Û¨Û …é _______ ¶Ûà •ÛéÁõÐüÛ›÷Áõà ™öé.  

  (a) ¸Ûó©ýÛÜ½ÛßÛÛ (b) ¸Ûä¶ÛÁõÛÈÛÐü¶Û 

  (c) ¸Ûä¶Û:ÜÉÛ“Û¨Ûõ  (d) µÛÛÁõ¨ÛÛ 

  The more crucial sign of forgetting is the absence of  ______ 

  (a) recognition (b) recall 

  (c) relearning (d) retention 
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 (19) …µýÛé©ÛÛ¶ÛÛ ÈÛ©ÛÙ¶Û ºéõÁõºõÛÁõÛé¶ÛÛ× ÅÛ“Û¨Û ›Û¨ÛÈÛÛ ¾ÛÛ¤éø ïõˆ ¼ÛÛ¼Û©Û ›÷ÄõÁõà ¼Û¶Ûé ™öé ? 

  (a) ÍÛ“Û¾Û ÈÛ©ÛÙ¶Û (b) ïõÛíéÉÛÅýÛ  

  (c) ¾ÛæÅýÛÛ×ïõ¶Ûõ  (d) ¸ÛóÛÁ×õÜ½Ûïõ ÜÍ¬ÛÜ©Û 

  Which matter is necessary to know character of changing behaviour of student ? 

  (a) Competent performance (b) Skill 

  (c) Evaluation (d) Initial stage 

 (20) ÈÛÅÛ¨Û¶ÛÛ –Û¦ø©ÛÁõ ¾ÛÛ¤éø ïõýÛÛ …Ü½Û•Û¾Û¶ÛÛé Š¸ÛýÛÛé•Û ÈÛµÛä ÍÛÛÁõÛé ™öé ? 

  (a) ÉÛÛÜ¼þùïõ …Ü½Û•Û¾Û (b) Í¶ÛÛýÛÜÈÛïõ …Ü½Û•Û¾Û 

  (c) ¾ÛÛ¶ÛÈÛ ¾ÛÛé¦éøÅÛ …Ü½Û•Û¾Ûõ  (d) ÍÛ×ïéõ©Û ¸ÛóÜ©Û¾ÛÛ …Ü½Û•Û¾Û 

  Which approach is better than any other approach for shaping attitude ? 

  (a) Verbal approach (b) Motor approach 

  (c) Human model approach (d) Code imagery approach  

 

ÜÈÛ½ÛÛ•Û – II / Section – II 

 

1. •Û¾Ûé ©Ûé …éïõ :   12 

 Any one : 

 (1) ¦éøÜÈÛ¦ø …ÛÍÛä¼ÛéÅÛ¶ÛÛ …¬ÛÙ̧ Ûæ̈ ÛÙ …µýÛýÛ¶Û¶ÛÛ ¸ÛóïõÛÁõÛé ›÷¨ÛÛÈÛà, ©Ûé¶Ûà ›÷ÄõÜÁõýÛÛ©Û ÅÛ”ÛÛé. 

  Write the type of David Ausubel’s meaningful learning and write it’s need also.  

 (2) ¶Ûà˜Ûé¶Ûà …µýÛýÛ¶Û ¶Ûà¸Û›Ûé¶ÛÛé …¬ÛÙ, …Û×©ÛÜÁõïõ ¸ÛÜÁõÜÍ¬ÛÜ©Û…Ûé …¶Ûé ¼ÛÛÔ ¸ÛÜÁõÜÍ¬ÛÜ©Û…Ûé ÈÛ¨ÛÙÈÛÛé.  

  (1) Í¶ÛÛýÛÜÈÛïõ ÍÛ×ïõÅÛàïõÁõ¨Û 

  (2) Ü¶ÛýÛ¾Û¶Ûä× …µýÛýÛ¶Û 

  Describe the meaning, internal condition and external conditions of the 

following learning outcomes. 

  (1) Motor Chaining 

  (2) Rule learning 
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2. •Û¾Ûé ©Ûé ¼Ûé :   12 

 Any two  

 (1) ¾ÛÛÜÐü©Ûà ÍÛ×ÍïõÁõ¨Û¶Ûä× ÍÛÛȩ́ ÛÛÜ¶Ûïõ ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé.   

  Describe the stage model of information processing. 

 (2) …µýÛÛ¸Û¶Û ¾Û¶ÛÛéÜÈÛßÛÛ¶Û¶ÛÛ –Û¤øïõÛé …¶Ûé ÜÍÛ±ùÛ×©ÛÛé ˜Û˜ÛÛë.  

  Discuss the components and principles of instructional psychology. 

 (3) ¼ÛÛéµÛÛ©¾Ûïõ ÜÈÛïõÛÍÛ¶ÛÛ ©Û¼Û‘õÛ…Ûé ÈÛ¨ÛÙÈÛÛé.  

  Describe the cognitive development stage. 

 

3. •Û¾Ûé ©Ûé ªÛ¨Û :  12 

 Any three : 

 (1) ÜÍïõ¶ÛÁõ¶ÛÛé ïõÛÁõïõ …Ü½ÛÍÛ×µÛÛ¶Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé.   

  Explain the theory of Skinner’s operant conditioning. 

 (2) ÜÈÛÍ¾ÛÁõ¨Û¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé ÍÛ¾Û›ÛÈÛÛé.  

  Explain the theory of forgetting. 

 (3) ¸ÛÛ¥øÀ ÍÛÛ¾Û•Ûóà¶Ûà Í¾ÛèÜ©Û¾ÛÛ× ÍÛÐüÛýÛïõ SQBR ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé.  

  Explain the SQBR method helping in memory of text book material. 

 (4) ¼Ûóä¶ÛÁõ¶ÛÛ …¶ÈÛéÌÛ¨ÛÛ©¾Ûïõ …µýÛýÛ¶Û¶ÛÛ ºõÜÅÛ©ÛÛ¬ÛÛë ÅÛ”ÛÛé.  

  Write the educational implications of Bruner’s discovery learning. 

 

4. ¼ÛµÛÛ ›÷ ÅÛ”ÛÛé :  14 

 Answer all : 

 (1) ïõÛýÛÙÉÛàÅÛ Í¾ÛèÜ©Û …é¤øÅÛé ÉÛä× ? 

  What is working memory ? 

 (2) ¾ÛÛÜÐü©Ûà ÍÛ×ÍïõÁõ¨Û¾ÛÛ× ˜Ûé©ÛÛ ÉÛÛÁõàÜÁõïõ …ÛµÛÛÁõÛé …é¤øÅÛé ÉÛä× ? 

  What is Neuro-Physical bases of information processing ? 

 (3) Š°ùà¸Ûïõ ¸ÛóÜ©Û˜ÛÛÁõ …µýÛýÛ¶Û¶Ûà ¼Ûé ¼ÛÛÔ ¸ÛÜÁõÜÍ¬ÛÜ©Û…Ûé ›÷¨ÛÛÈÛÛé. 

  State two external conditions of S-R learning. 
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 (4) …ÜÍ¬ÛÁõ ÍÛ¾ÛýÛÛÈÛÜµÛ ¸ÛªÛïõ …é¤øÅÛé ÉÛä× ? 

  What is variable interval schedule ? 

 (5) ¼ÛÛ¶þäùÁõÛ¶ÛÛ …ÈÛÅÛÛéïõ¶ÛÛ©¾Ûïõ …µýÛýÛ¶Û¶ÛÛ ¼Ûé ÉÛíé“ÛÜ¨Ûïõ ºõÜÅÛ©ÛÛ¬ÛÛë ›÷¨ÛÛÈÛÛé.  

  State any two educational implications of Bandura’s observational learning. 

 (6) •Ûé¶Ûé¶Ûà …Û×©ÛÜÁõïõ …¶Ûé ¼ÛÛÔ ¸ÛÜÁõÜÍ¬ÛÜ©Û¶ÛÛé …¬ÛÙ ›÷¨ÛÛÈÛÛé.  

  State the meaning of Gagne’s learning internal and external conditions. 

 (7) …µýÛýÛ¶Û¶ÛÛ ¼Ûé …¶ÛŠþùÛÐüÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé. 

  Give two anti-examples of learning. 

___________ 


